www.abra-electronics.com DG00S8

4WD chassis Assembly Instructions

\'\;‘
4XAA battery
holder 1pc

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
[
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

(.
i M3 nut 8pcs
M2.5 nut 8pcs | (4pcs spare part)

M3*6 screw 8pcs
(4pcs spare part)

Assembly instruction:
Step 1:insert the gearbox holders as

below drawing ( ﬁefdr box
] older
) Gl
73 )
U

M3*6 spacer 4pcs
(spare part)

Battery holder
tierap 2pcs

e

|
|
|
|
|
|
|
;
> :
|
|
|
|
|
|
|
|
|
|

Step 3: assembly the gearbox

M2.5 nut

M2.5*25 screw

J

(.

Step 2: place the gearbox as below

drawing Gear box

Firstly fix the upper screw
holes (position 1)

Then fix the down screw
holes (position 2)




Step 4: assembly the wheel i Step 5: Assembly the chassis-up

M3*6 screw




	页 1
	页 2

